[EnY
<
T
=
<

(0 @) (rad)
o(d cot(v))

1072

o103 o :
s £ U 1 g :
@ I=------- -0-54'---- ----o:--'“ --q»-o----i ------------ @ g
o + :
0.9:— -------- |t S G & SRRl EEEE LR
0.8 Al = = > . 0.8 : '2 .
10™ 1 10 0 .1 10™ 1 10 0 -1
TP, (PCA t% beamling TP, (PCA t% beamline
—=#— DQM_CKF_XiMinusNOPU_base
—— DQM_CKF_XiMinusNOPU_retrainOldFiles125_v2_prelimWPM_epoch3
= = 1=
= 1]
5 3]
= =
> ;\N
=]
o
<] =
35 [¢]
107" ;
I : i T
.9101{: L .! db .! L .......! Liiun .910—2_ L .....! Jhbhh .! L .......! Liiun
- E . r . - H B I L
T 1.05F-------- {i g LApeeeeee 1T ; :
o E l; o I : : H
1 12f e L
0.95F : E 1 T :
oF Ps | P R S I DU 3 IR U Ut

107 1

2 3
TPlp?T (PCA tjbobeamliné'f)

=

o p/p.)

-+

Ph=---e--- B I B e o R T




	Contents
	Page 1


